PDG |
(Zentrallibung)

Problem Sheet 11 |
Question 1
Use the method of characteristics to determine the solution u: [0, 00) x R — R of the initial |
value problem |

u—zuy =1 in(0,00) x R |
e} u(0,z) = f(z) on{t=0} xR,
where f € C'(R) is given.

Question 2
Use the method of characteristics to find a solution u: R\ {0} x R = R (= u(z,y)) of the

| initial value problem

(y+wu, +yuy, =c—y nR\{0} xR
u(z,1) =1+ onR\ {0} x {y =1}.

Question 3

(a) Use the method of characteristics to find a solution u = u(z, y) to the Cauchy problem

w2y + yPuy = u?

(5, 20) = T

b (b) Check whether the transversatility condition holds.
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